LABJNDuS triangle lightness t* m LABJINDuG6 relative triangle lightnesst*/t*,,
t* Ync YW nc_loox t/t* u Ync‘YW nc_loox

L ABINDUs=[IN[(A 10+A2nY)V(A 20A 0n)] (Yad/100<Y<=Y,) t*LaBaNDus =[IN[A 1n+A2nY)I/(A 20A0n)] (Ync/100<Y<=Y,,0)
tN(3,6)=146 1 (18)=332,t*y(90)=517 &’ t*(3,6)=146 t*,(18)=332,t*\,(90)=517
2 t*go/t* =1,55, Ap=1,500, G=1,00
U1dt,=100. A0017, £,-00058
t*,=332,22 m,=264,6¢ 200,43, 332,23 Y01
L*,=49,t* =332
t4/t,=1, m,=0,79
t*=517,21, A=".500. ¢31,00" - R
t16=332,72, A. -0,01” #=0,0D58 — (=49, 15 = —-
t*3,6=14F, 111 =332 3 Y4 "18 application ?g%lgatlon

S range f

ve IYU:18 ¢ 1y,=18
V=36 Yw=90 YaE36 | Yg=90 |

LABJINDu6 log(AY/AY,) LABJNDUuG6 relative
tristimulus value difference AY/AY, tristimulus value difference
Yoc=Yw  nc=100, i Yoc=Yw =

=100,
nec 4
L aBINDUs=IINI(A 1+ A2 )I/(A 2nA0n)] (Yao/100<Y<=Y,0) t*LaBINDus =[IN[(A 17+A20Y)I/(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
dY=Agn(A1ntAznY)  A1,=0,017, A,=0,0058 dY/dY,=AgnlA 1ntAYI/dY,
Aonpes=L,5, Aon a=1,0, see CIE 230:2019 dYoo/dY,=4,43, Ay=1,500, G=1,0
dYgg=0,80, Ay=1,500, ¢=1,00 . dY;g/dY,=1,00, A ; 0017A2=,0
dY;¢=0,18, A=0,017, A,,-0,0058 > dY; ¢dY,=0,31, Y,=18, dY;=0,18
dY3,=0,05 Y,=18 dY=\,18 o
t*,=332 dY,=0,18 dY,/'(,=0 4101 ‘ >’

>
0.| t*,=332, dY,=0. 18 dy, /! 1u—0 ./101 >

application
range

1v,=18
YN=36  Yyw=90

log AY/Y) LABJNDu6 log [(AY/Y) I (AYIY)] LABJINDUG relative
_ tristimulus value sensitivity _ tistimulus value sensitivity

S=(@AYY) Yo=Y - =100, SSu=OYMIBYNy . =y, =100,

t*LaBaNDus =[IN[(A 1n+A2nV)/(A 2rA0n)] (Yac/100Y<=Y,o) t*Laganpus =[IN[A 1n+A2nV)I/(A 20A0n)] (Yno/100<Y<=Y, )

AYIY=Agn[A 1,+AgnYIIY AYIYYAYIY = (At Ag V)Y (YY)
(dY/Yp=0 0u2, 500, ¢=1, (AY/Y)o/(dYY}-C.28 Av=1,500, ¢=1,00
(dY/Y)g=0,6201, (dY/Y)g/(dY/Y ,~1,00, A,=0,017. A,=0,0058
(dY/Y}6=0,0154 b (dY/Y} g(dY/Y)=1,2% Y.=18 dY=0,18

log(d¥/Y)y--1.99 m,=-0. 8w 3 4 " oy gpplicaton
t*,=332 dY,=0,18 dYulYu 0,0101| ge log[(dY/YY(dY/Y),]=0, m=-0, 13

L t*,=332, dY,=0,18 dY,/¥,=0,0101 | ?apr%iga“o”

1y,=18 1y,=18
YN=36  Yy=90 YN=36  Yw=90

log (Y/AY) LABJINDu6 log [(Y/AY) I (YIAY),] LABJINDUG6 relative
- tristimulus value contrast - tistimulus value contrast
C=(YIAY) VY =100, ColCo=(YIRVIYIAY)y . 2y 2 2100,
t*LaBaNDus =[IN[(A 1n+A2nV)/(A 2rAon)] (Yac/100<Y<=Y,c) t*Laganbus =[IN[A 1n+A2nVI(A 20A0n)] (Yo 100<Y<=Y, )
YIAY=Y/[A on(A 1+ AgnY)] (YIAYY (YY), =(YIYIAY LA on(A AV (Y/AY),

(Y/dYy=111,31, A=1,500, =1,00 (Y/dYpo/(YIdY)=1,12, Ay=1,500, ¢=1,00
(Y/dY% 98,84, A 70,017, A,=0,0058 (Yldvgal(Y/dY =1,00, A, =0,017, A,=0,0058

(Y/dY} ¢=63,35 Y,=18, dY;=0,18 (Y/dY} ¢/(Y/dY)=0,64 Y,=18 dY=0,18

1 application application
1 range range
1y,=18 'y,=18

T fr— —
=0y Y=20 - Yy=90




